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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)
1x10=10

o™ ST ©eTe AR =1 72l ©es B ¢

(@) Costing is a technique of cost.
(Fill in the blank with appropriate word)

TR 3 2Bt (Fele T GOt I |
(©13® 973 371 31 979 )
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(b)  Cost accounting is based on figures. (l:il) HIED (ﬁi)
(Fill in the blank with appropriate word) (iv) FILO (7=T)
TeAT T B1sige R @S WA (Select the correct answer)
\ (c) Variable cost Per unit remains constant. | () Inwhich industry process costing is not
(State whether the stat 1 or used ?
false) R s frue OB Sl 0% Rl AT e
ST % efett eoibre @ 2| T2
(Sl ey o wprey fa730) () Chemical (IFAF<)
() ‘;figﬁs gaid to factory supervisor is | (ii) Textiles (I%)
rhead,
(State whether the , (iij) Cement (PGID)
at or
false) e (iv) Oil refinery (CO81 ClIEHINS)
zi@nﬂ'ﬁ’[ﬁﬁ‘ﬁiﬁ AN 1 iR 2 9@ (Select the correct answer)
3 "T%Wl. (Efetst srey ooy ey 74 (3133 Tewcol R Blersdn)
: Scfr;;)rdcrmg level = Minimum (h) An abnormal loss is
(Statgnsfht;c;:; I\;I}igmum re-order perio SIS e I
r
N false) fatement is true o (i) due to the nature of process
J WWW:W%WM o 2T P AR
y e Rbrain ST oy &4l) (i) due to the abnormal factors
m Wl’}lCh meth()ds of valuj 21 is WWW
Sultable in termg of rismﬂggprgiézr;a . (iii) None of the above two
E T4 S D otogs A T BoETe YA A
_ iy (Select the correct answer)
b o) (5% S5t AR T
(i) FIFO (Rrp)
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0)

(k)

Y

(m)
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Costing provides all of the following (n) What i.s r';leant by Cost Ledger
information, except ) Accounting ?

(Fill in the blank from the following Tesiive 3 Ao f=pivese i [ 330 2
options) _ Y

(i) roduct cost (o) Identify the types of Specific Order
(ii) = hf TN Costing :

it) cash lorecasts 3
(i) inventory value RO ST R 251716001 SAPTIR oI =411 8
(iv) cost of goods sold (i) Batch costing
I =517 e . SR — uﬂﬁﬁﬁj}ﬂfiﬁwq
Y THF ¢ (i) Job costing

() Tesifio 3y I fRpreipaet

() R oo (iti) Process costing

(iii) TGS e 1 | e fisiviam

(iv) T 3T (iv) Both (i) and (ii)

Define the term ‘costing’ (i) =N (ii) FCO! )
G T ot ; (Select the correct answer,

% RIS (Fiwfary e
| fa | Ao CeTeh! AR Eerea
What is idle time » ( R Sfrad)
T e 2. Answer the following questions : (any five)
What is meant b 2x5=10
Y cost-p] ?
S e e TR =11 R 155 ves i 3
Write the mean: Sl | (a) Write any two distinguishing features of
Cost AccOuni?;lgmg of imputed cost’ in cost unit and cost centre.
S 278 R < (oI S 3% (P (e 757 Aol ey
RS WMot g g v Srat
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(b)

()

(d)

(e)

(9)

(h)

What is economic order quantity ?

o S st [ e

State the meaning of overtime.

w%ﬁ@mmmﬁsg

State two features of indirect labour.

PRI 3] 757 31195 T 4 |

Statfe two important features of contract|
costing.

33 <73 Ro1oiw 75 et iy oz 1

What is meant b
contro] ?

T A Tt g e w1 & 99Y
What is machine hour rate ?

A 51 21 o 2

What is meant
overheads ?

%ﬂﬁ@mmm%?

Y ‘minimum level’in stock|

by absorption of

A
SWer any four of the following questions *

4 (Sem-4/CBCS) HC 1/RC (CAC)/G

5x4=20

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 7

(b)

Write a short note on ABC analysis of
inventory control.

T #i¢) R ABC Ree #iaifox e ive «fb
HCoI! forait |

Black and White manufacture and sell
‘Dirt Buster’. Following details are
available for the year ending on
31/03/2022 :

Black 9% White @ ‘Dirt Buster’ G&ave
o R 9 1 31 6 2022 SR Se[) 31T
AsifeaE [ege weto Tl 2e 8

Direct Materials

OIS (oI

< 12,30,000

Direct Wages
o5 AY
Factory expenses at 25% of prime cost

FIRAAI 46 I T 25%

Administrative expenses at 20% of
factory cost

T 26 A TIF 20%

Selling and distribution expenses at
Z 300 per unit

) =< o194 496 300 Bt 2f® (aiite

< 8,00,000

Contd.



(d)

4 [Sem—4/CBCSj HC 1/RC (ca

Opening stock of finished goods |

(100 units) at 3 2,593,750 and closing
stock of finished goods 80 units. Number
of Dirt Busters sold during the period
1,220 unit at 3 4,000 per unit.

SRR ¥ #147 100 (offs 2,583,750 5 oI |

AR Few =iy 80 (NG | =fSTHT caiG 4,000

Prepare Cost St
Production P€r unit ang profit.

o O3 Beotfs e 2y <, w1 CT4ER
ST RS e 7

Following inform

ati .
of raw materia] : tion relating to a type

S available -
G Ry o ‘
PG sy N SRS e Wl
Annual dep,
AR i X 4,800 unit
Unit price
Ordering cogy

Per o
T 2 3 rder 2800
Storage cost
TR 3 2% per annum
Q¢ 8

atement showing cost of

(e)

(9)

()

{Sem-4/éBc3) HC I/RC (CAC)/G 9

Interest rate 10% per annum

S 2N @R
Lead time Half month
NorRES Sl g

Calculate EOQ and Total Inventory Cost

in respect of the particular material.
3+2=5

G2 Rf%e @FEEER EOQ ISk I3 I[g Ao 3
Al 41 |

How is profit of an incomplete contract
ascertained ? Explain.

STl f30! 291 3 (RS 211 =< 2N, 5=
Sl

Explain the needs for reconciliation of
cost and financial accounts.

Teolve 5 f2oist ois K6 fRplel Tneses
S{TRIGT o] I <5 |
Explain the concept of perpetual

inventory system as a technique of
effective material control.

TR TG A4l G CFIE {Rpiee! ot ore
2lel] Smioq LIFNTH! I /1 |

Mention five special features of a good
costing system.

B! 97 T FRoteIeaet wimfes shivbi afisy Brae
40 |
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4. Answer any four of the following questions :
10x4=40
=TS {8l SRR Rz b1 s Brdi ¢

(a) What is cost accounting ? Explain the

objectives of cost accounting. 3+7=10

CANH T Reb{oteaet N 52 Tesma T

fisrﬁwm%rwaWWI

Bishal is €mployed in a factory. From

the f-ollowing information, calculate his
€arning per day under —

(1)

(b)

Straight piece rate; and

(@) Taylor’s differentia] piece rat€
:);stem. Normal rate per hout
0.00. Standard time per unit 60

Differentials ?

809 i
0% of piece rate below standard
1200 i
% of Plece rate above standEjud

Productio
n achj :
Bk achieved : 500 units per

4 (Sem~4/CBCS) He 1/RC (CAC) /G 10

()

feIleT 51 TS I < | ©e7 il WU 21

o€ AT Tl sie F —

()
(i)

T I ;O
Taylor’s ¥ OO S R AF 0S|
FroiFe 29 &f® THIe 90.00 5t
e TR 2fS (5lit® 60 (=S
ST ¢

S SRS 0 796 T I 80%
@5 S I 795 e *T 120%

#{foa 500 (316 4y BeAM 2F |

Briefly describe two remuneration plans

together with their advantages and

disadvantages. 5+5=10

51 R ARl AR S SR AR
<fRre 36 11 |
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- (@) Aproduct passes through two processes. |
The details are as below :

A Beot w51 aifermie Sicore Sfvww @
[ RYOSIE wors figy 2 2
Processes
gifera

Units produced 9 g) (M
Geotifre TR (o 0 'l
Cost per unit (in ) 1
e i3 3 (5o £ T
Other materials (in 3
S o137 (52 ) 30,000 20,000
Labour (in 3
= (5) ' 80,000 90,000
gverheads (ing)

20 7 () 40,000 30,000
Normal loss (9 i

nput)

’S@Emﬁs% (BN o) 8 10

18D value (2 per ) ;
) T (2f (s ) 0 15

\ ctual output (in units) .

€rtain cost per unit

cﬁﬂ%mﬁ%ﬁwnﬁmﬁwwmﬁ@

: Sl

#Sem-4/CBe3) He 1/p CAC/G 19

(e)

()

()

What is material control ? Explain the
purchase procedure to be maintained

under material control system. 2+8=10

A e &6 2 AN e safoe ShpRe i
A o afeE i <

What is labour turnover ? What are
various causes of labour turnover ?
Explain in brief. 3+7=10
=S s W [ 2 2SS e [fog F5d &
& 2 FCFee T 9 |

Discuss various bases for apportionment

of overheads to cost centres.

T T TR < R 9 R o
SCAo! <P |

What is job costing ? What are the source
documents used in job costing ? Explain

the procedure of job costing. 3+7=10

1 7 o= 6 2 I 5w Bpiewae & &
aiferzn i 5 |
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(i) Whatis abnormal loss ? State the causes R) (=)

of abnormal loss. Also explain thé| Works expenses allocated to jobs 70,000
procedure of calculating abnormal 1085  zfte w591 P 49—
In proces i =10

P S COStlng. 2+2+6 1 Adminisu-aﬂve eXpenses 50:000

IR 52 @@wfor prermeEd T e
2l A fRpieieaes SRl 5% oo ¥4 Administrative expenses allocated to jobs 34,000
A&t 11 3 | - l(e O 41 SRR 4

() The following are the summary 0f Finished goods transferred to warehouse  4,00,000

transactions obtained from the costing (AR &4 SCA ZIE
records of Champa Company.

oS iz You are required to journalise the above
A TR AR 5=of s I3 transactions under integral accounting
%ETW‘TWW TR Carm ¢ system. 1x10=10
@o[S AT FRTAER RIS RDI#F Aaoo
Dir ) (&)
ect wages (cash) 30,000 Gicaw i 0 |
ST & (Fo1m) :
Indirect wages (cash) 90.000
R & () i
Purchases (cash)
T () 40,000
Puchases (credit) : '
& (@) 2,00,000
Store
Ws ;:Isued against Production order 1,70,000
W m mﬁ ﬁ'ﬁ ) )
orks expenses (cash)
P <5 (7517) 40,000
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